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1-1) BEBRE2MTYKER (T —VY—1K )

(4~ —AEHAA)

<—[48,000]

A (BE) 1ty =YIEg = AT "
3 SEEF10% (F/tyh) (F/5=2) (kg)
TYKI=T>
1tk 13,200 —{12000] 13,200 24
(R —A2E1A) «—[12,000]
TYKI-2>
249k 11,000 —{10000] 22,000 48
(KHE2+a—R 2 H2A) «—[20,000]
<TYKI1-3>
3tyh 10,450 —[9500] 31,350 7.2
(KHE3+A—R 2 H3A) «—[28,500]
TYK1-4>
449 h 9,900 —[9,000] 39,600 9.6
(AN —2E HAN) <[36,000]
1-2) BEBERMTYKE R (7 —Vv—2K44R)
<l:ll:l!-|_§> *Hﬁ'%*-l'ﬁﬁﬁ*ﬁ(ﬁ) = ﬁﬂ:%
A (BE) 1t hi-VinH =A% = i
_ SEEFI10% (H/tyh) (H/5-2) (kg)
TYRZ=T>
12y 16,500 [15,000] 16,500 2.4
(R —A2E1A) <—[15,000]
{TYR2-2>
249k 14,300 —C13.000] 28,600 4.8
(FHE2+a—R 2 H2A) <—[26,000]
{TYR2-3>
3tyh 13,750 —[12,500] 41,250 7.2
(ZAE3+A—RE E3A) <—[37,500]
{TYR2-4>
4byh 13,200 —[12,000] 92,800 9.6




